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Instruction : The exam contains 6 pages with 30 questions.

For each answer, write the correct number down

AND fill in the bubble(s) on the answer sheet.

1. Which of the following is NOT correct?
@ 0.09 is equal to 9 copies of 0.01 added together.
@ 0.047 is equal to 47 copies of 0.001 added together.
(® 68 copies of 0.01 added together equals 0.68.

@ 100 copies of 0.001 added together equals 1.

1. i Ito 1 .
® 1.053 is equal to 1000

2. If the difference between g and g is to be presented

by coloring some of the 15 parts shown in the figure

below, how many parts should be colored?

3. Which of the following statements is NOT correct?
@ All four sides of a rhombus are equal in length.
(2 Opposite angles of a thombus have equal measure.
(® A rhombus is a rectangle.
@ A rhombus is a parallelogram.

(® Opposite sides of a rhombus are parallel.

4. If the data in the given table is to be presented by a linear
graph with a broken scale, up to what number of sit-ups is

necessary when drawing the graph?

SongJun’s sit-up record

Day 1 | 2| 3| 4] 5|67
Number | 14 | 19 | 18 | 17 | 18 | 18 | 17
of sit-ups
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5 ﬂWﬂﬂWiﬂfJulﬁ‘Hd’JUGif)hlﬂﬁy I @ + A L‘ﬂul‘ﬂ'ﬂﬂ 5. From the following fractional reduction, find @ + A.
28 reduce 9 reduce 3
28 wou A 9 weu 3 3 > ? e 3
32 8 o 8
4
6. ﬁ]'lﬂ‘ﬂi%IEJﬂ willué’ﬂ‘]eliﬁ)@'ﬂvlﬂﬁ ® ﬁﬂ"n‘]{]"]cl@] 6. What is the value of @ in the following number sentence?
11,4 ® L 1,4 ©®
2 3 9 18 2 3 9 18
o A o Y -dyd og.z’ Ao A | - 12 .
7. nsuunsmualiee T Inavuansun lamdy 3 7. From the numbers given below, how many of them are
i 12 )
notequalto —— 7
o L Saufu 12 s A B
13 13 13 1 g 5
. 1 194 39 - 1 * 12 copies of T} added together ~ * G + 3
3 13 1 . 1
o — 39 . 1_ _
L4 4 4 3° 13
4 4 4
13 13 13 s 22
13 13 13
v v [ Y
8 gﬂﬁﬁmuﬂiﬁ’ﬂizﬂauﬁ'aﬂgﬂﬁmﬁau%’ q%’ﬁ qujqzﬂﬁﬁ 8. The given figure is composed of squares. How many squares
{ A4 o o o H o i are there in total? (Every possible square must be counted)
sidmaouigsanamuangy ciunngdndull1d)
9. IAMIH AN AIUADIT 1L THNAITIMAY IMIHAAIUDY 9. From the given process of getting two fractions to have the
allas b same denominator, find the difference between a and b.
15 21 j,j o ’ 21
a;g _— axb’axb a' b axXb axb
Y 1 dy A a A @ A
10. ¥olaae 1l Wonanglunenile Aueviyugalli 180° 10. Which of the followings will result in the same image
Lgé’amz"lﬁ'sﬂgﬁmﬁ’u when being flipped to the right and when being rotated 180°?
@ ® [o ® @ @ [o ©)
o O

@[] ® @[] ®

A A v v
11. 9INAVAILA 0 D9 9 v TdavnaruanaIaNasluyes [ ] 11. How many digits from 0 to 9 can be filled in [_] to make
w1 1nse leaduany ilﬂihﬂu%?@ the following number sentence not true?
5768 +3.48<9.2[ ]9 5.768 +3.48<9.2[ ]9
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12. From the given statement, what is the sum of all numbers

that can be filled in [_]?

24 is divisible by [_]

13. Two types of snacks, 14 pieces each type, are bought.

If every piece of the first type weighs 6.47 grams and

every piece of the second type weighs 8.53 grams, what is

the weight of snacks (in grams) that have been totally bought?

14. What is a in the following statement?

7.341 is

the number that

has 7 of 1.

1
—— has 1l of —.
as 1 of

h f—.
asaof 70

has 11 of

1
1000

1
15. If 4 strips of colored papers (each of 4 5 cm in length) are

1
connected by overlapping joints (each of 1 3 cm in length),

find the length of the final, connected strip in cm.

16. ChunHo, Sungll, and YongJin are counting numbers based

on the pattern shown below. What is the sum of the numbers

in their 21" count?

ChunHo : 5, 10, 15, 20, 25, ...
Sungll : 3, 8, 13, 18, 23, ...

Yonglin: 1,6, 11, 16, 21, ...

17. Figure

is drawn on a clear plastic sheet and flipped,

one direction at a time, as per the instructions shown below.

Which of the followings is the figure in position (E)?

flip to the right
—

flip to the left
B WD

flip down
B) ©)
flip to the right
@) ©) ®
@ ®
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18. A store sells wire in the length unit of full meters only.
To buy wire and give to 36 people, 90 cm each, what is

the length of wire (in meters) that should be bought?

19. Stack 5 dices as shown. Apart from the 10 sides seen in
the figure below, find the sum of the dots on the other 20

hidden sides in the figure.

20. The following shows the net of a cube. If every sum of
the numbers on the opposite faces is equal and the number

on each face ranges from 35 to 40, find @ +® — ©.

35

38 ©

21. From the figure, line 4 is parallel to line B. What is the value

of x?

22. Write 123 digits based on the relation given below.

Find the sum of all 2s written.

151’2’272’27 1’1’2’25292’]71’2’2’252’ o
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23. Numbers 0.1, 0.2, 0.3, 0.4 are used to replace *, ¢ AN

each number is used only once and can replace any of
the figures. Then, the calculation represented by the relation
as shown on the left is performed. If 4 is at its smallest

possible value, what is the digit in the tenths’ place of A4?

EXAMPLE

. The number of apples harvested from MinSog’s village

last year, after rounding it to the nearest thousand, was 20000
and the number of apples harvested this year, after rounding
it to the nearest hundred, is 19800. Find the largest possible
difference between the actual number of apples harvested

last year and the actual number of apples harvested this year.

. If numbers are written based on the following pattern,

4
at which place of the term in the pattern will I appear?

toL2 1203 1203
29’ 3’ 39’ 49 49’ 5’ 55 55"'

L
4 B

. Stack cubes as shown in the pattern below. In the 1" figure,

9 edges are visible. In the 2" figure, 24 edges are visible.

Find the number of visible edges in the 7" figure.

®%%m

1 stack 2 stacks 3 stacks

. Figure 1 shows 2 steps of a ladder and so there is 1 pair of

parallel steps in total. When one more parallel step is added
as shown in Figure 2, there are now 3 steps and 3 pairs of
parallel steps in total. In order to get 210 pairs of parallel

steps, how many more parallel steps need to be added to

Figure 1?
(1" step) (1" step)
@™ step) @" step)
(3rd step)
Figure 1 Figure 2
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28. When 2 clear plastic sheets with the same design as shown

29.

30.

in the left-hand-side figure are placed side by side and with
no overlap as shown on the right-hand-side figure, how many
different designs can be created? (Designs that can be rotated

or flipped to match each other are considered as the same design)

How many counting numbers can be filled in D to make

19

O be a fraction in the simplest form that is greater than

ibl h 2‘7
3 utesstanll.

There are a plates and b peanuts. When putting all peanuts
on 4 plates with 45 peanuts each, 7 plates with 38 peanuts
each, and the rest of the plates with 29 peanuts each,

there are still 58 peanuts left. However, if all peanuts are put
on 5 plates with 35 peanuts each, 6 plates with 64 peanuts
each, and the rest of the plates with 25 peanuts each, there

will be 15 peanuts short. Find a + b.




